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. al=123456789) 23456789

printl al

2. ak-123456789123456789

print:ag

J. a=123456789123456789

prinl a

1. a%=55555.5 -
print a%

/0;‘]\( 1) The ACE Manufacturing Compan

paying them $5.00 ap hour » plus §7.

Frite a BASIC program to rcad in (he work
worked from Keyboard + ang then calculate

amounts duc thep -

may vary day by day « The oulput

follows:
NAME IIOURS WORKED
P. ClEN 8.0
Y. TSAI 8.5

K. LIN 10.0

¥ occasionally hires laborers -
50 for ali hours over cight «

er's names and hours
and print oul g list of the

Assume that the number of workers that ACE hires

report formatl should look like as

AMOUNT pUE
10.00
13.75
55.00
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#
£

2 8’7} (/) Develop a compulerized
greater than |Q »
called GUESSIT »

number
32767 -

between 0 angd I, where N

gamc Lhat
but less than 9 -
then have the uscr
. Note that the statement RANDOMIZE(N) can be used to generatle a random

A sample run js shown below

generates a random number
Store the number in a variable
atlempl to guess the number -

is any value between -32768 and

°

I'm thinking of g number between 10
Try to gucss il

Your gucss? 49
Too high+ Guess again!

Your guess? 9
The number is > than 10 and < 90 -

Your guess? 15
Too low e+ Guess again!

.

Your guess? 23
Correct! Yoy guessed
Play again(Y/N)? N
Ok

the number ip 4 trialsl

and 90 -

(a) Explain your algorithm »
(b) Draw a flow chart .
(¢) Write a BASIC program




